Installation Instruction

MODELS: D701 /D702

— >

A

o
R

Three stalls 1

Space : 15cm{

Length : 33cm
Max Vesa : 30cm

=

Space : 6cm L

Three stalls I

wog : 3dedsg

Space:lScm[

o m
= g B

[][IIIIIIII % e
Metal screw Metal screw Metal screw Metal screw Metal screw 304 abeih I
M4*16*4 M5*16*4 M6*16*4 M6*35*4 M8*20*4 50kg

Model:D701 Model:D702

Wd7Zg 1 BSAA XeW
wogs : ybuay

TTTT | ccco | mmam | 0000
Metal screw Metal Nut Nylon gasket Nylon gasket Foam antiskid pad
M6*10*4 M6*4 thickness 20mm*4 | thickness 5mm*4 | 15*40mm*4

C000

Metal gasket
6*1*4




